(3% EXULEXECOE S

1 9+3= 48+9=

74 =+8= 59=+7=

58+7= 8+-3=

4 | - 5= 26+-8=

29+-6= | 3+-2=

30+-4= 27 +6=

| 3+-2= 34-+-5=

X 5.Y /. (www.kodomoprint.com) (= 3% =]

T—LADEHRBEHTI I a—-FTELERS5HA b



3%« EXULEXTUE BF:

53+7= 27 +6=

19+9= 34+9=

25+4= q-+-8=

62+-8= | | +-2=

5+2= 52+7=

36+-6= 28+-3=

43+5= 39+5=

| 7+3= | 0+-4=

X 5.Y /. (www.kodomoprint.com) (= 3% =]

T—LADEHRBEHTI I a—-FTELERS5HA b



(3%« EXULEXECUE B

13+8= 48+q=

29+5= 59=+7=

57+6= | 5+4=

| 6+ 7= 26+-8=

| 3+-2= | 3+-2=

65+9= 27+6=

| 4 +-3= 34-+-5=

X 5.Y /. (www.kodomoprint.com) (= 3% =]

T—LADEHRBEHTI I a—-FTELERS5HA b



(3% EXULEXEUE B

60+-8= | 4 -3 =

38+-4= | 8 +-5=

44 +7= 23+4=

7+-6= 57 =+17=

| 6 -3 = 65+-9=

64+q= | 2+8=

38+-5= 29+-6=

X 5.Y /. (www.kodomoprint.com) (= 3% =]

T—LADEHRBEHTI I a—-FTELERS5HA b




